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B. Com. EXAMINATION
(For Batch 2013 & Onwards)
(Third Semester)
BC-301
CORPQRATE ACCOUNTING-

Time : Three Hours Maximum Marks : 80

ey

Note : Attempt Five questions in all. Q. No. 1 is

compulsory. All questions carry equal marks.

1. Explain in brief :
(i)  Under-subscription and Over-subscription.
(ii) For what purposes the amount of securities
premium can be utilised ?
A\ (i)} What is Bock:Building 7

(iv) Amalgamation in the nature of purchase.
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(v) Deferred Taxes

(vi) Ex-Interest purchase of Debentures.

(vi1) SEBI Guidelines for creation of Debenture
Rcdemptién Reserve.

(viii) Issue of Right Shares.

Give Journal Entries :

(i) A Ltd. forfeited 2000 shares of Rs. 10
cach issued at 10% premium to Ram (Rs.(
called up) on which he did not pay Rs. 3
of allotment (including premium) and first
call of Rs. 2. Out of these 1200 shares
were re-issued to Vikas as fully paid up
for Rs. 8 per share and 200 shares to
Meera as fully paid up @ Rs. 12 at
different intervals of time. 8

(i1) Issued 2000, 12% Debentures of Rs. 100
each at a discount of 2%, 1'edeexnaB]e at a

premium of 10%. 2

(
(ii1) Z Ltd. forfeited 2000 shares of Rs. 10

each (Rs. 6 called up) issued at a discount
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3

{ 10% to Ashok on which he has paid
O /0

3 per share. Out of these 1200 shares
as Rs. 8 paid up for

6

R

were re-issued tO 7z

Rs. 6 per share.

idati arch
X Ltd. goes into liquidation on 3lst M ;

ing 1 oks as
7013, having assets appearing 10 the bo

follows :

000
Works and-other property Rs. 36,00,

Rs. 4,00,000

Liquid Assets | -
8.00,000 and its capital

Its liabilities are Rs.

(paid up) Rs. 40,00,000. The
- to
06.000 payable as-10.

td. for Rs. 20,00,
e 10 each

18.00,000 in equity shares ‘of Rs. |
. id up and

7.50 per share pal

business 18 sold

credited with Rs.
Rs. 2,00,000 in cash.

. -« in the books ©
as Journal entrics in
& ledger

also preparc the necessary

companies and &
Jccounts 11 the books of X Ltd.
‘ l P.T.0.
3 2
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"4, The Balance Sheet of Krishna Lt\d. as at 31st

March, 2013 was as follows :

Particulars Rs.
I. Equity & Liabilities

Shareholder's Fund

Share Capital :

32,000, 6% Preference shares of

Rs. 10 each fully paid _ 3,20,000
96,000 Eqﬁity shares of Rs. 5 each | f
fully paid 4.80,000
. 8,00,000
General Reserve: : 1,600
P&L Balance 1,44,000
- Non-current Liabilities
5% Debentures 1,92,000
Cw'rem Liabilities
Trade Payables. 3,20,000

ek,

B-4831 i
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1. Assets

Non-current Assets :

-Land and Buildings 3,84,000
Plant and Machincry 3,60,000
Goodwill 2,24,000
Current Assets : !
Inventories : 64,000
Trade Receivable 1,28,000
Cash 9,600

11,69,600
Under revaluation of the assets, it was found

that goodwill was worthless and other assets

were over-valued to the following extent :

Land and Buildings by Rs. 64,000 and Plant and
Machinery by Rs. 88,000. ‘

A provision for doubtful debts to the extent of
Rs. 8,000 was necessary.

The following scheme of reorganisation was
approved by the court :

S P.T.O.



(1)

(i1)

(i)

Trade payables to accept 6% debentures
to the extent of 50% of their claims, the

balance to be paid in six months after the
date.

The preference shares to be reduced to
Rs. 5 each and equity shares to be reduced

to Re 1 each.

The assets to be brought to the revalued

figure and the debit balance of the P&L
A/c to be wiped out. (

Draft Journal Entries to give effect to the above

scheme and prepare the revised Balance Sheet

of the company.

8+8

5. Prepare in a summarised form of Balance Sheet

of a

company as per Revised Schedule VI of

- Companies Act, 1956 taking imaginery figures.

6. i(a)

‘B-4831

Explain clearly the legal requirements for
the Redemption of Preference Shares as

laid down in Section 80 of the Companies
Act, 1956. (

I

(b)

A Ltd. has paid up capital of Rs. 8,00,000
(Rs. 10 share Rs. 8 paid up). It has
balances n ( jeneral Reserve Rs.‘ 4.00,000;
Securities Premium Rs. 8.00,000 and
Capital Redemption Reserve Rs. 2.00,000.
It capitalised its reserves 10 make the °
shares fully paid up and then issued. Bonus

shares in the ratio of 1 : 2. .

Pass Journal Entries. '8+8

A company issued 10000, 9% Debentures
of Rs. 100 each in 2001. Interest 1s
payable on 30th June and 31st Dec. each
year. On 30th April 2013 the company
purchased Rs. 20.000 of
debentures at 95% and cancelled them

its own

after 4 months.

Give Journal Entrics if the purchase price

is cum interest. lgnore creation of

Debentures Redemption Reserve. 10

(b) Explain accounting treatment of right
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8. Wha et Purchase Consideration as per

,-f\ccouming Standard-14 ? Explain the methods

of its calculation. Dol 4

9. Write notes on the following :

(a) Calls in Arrears 3
(b) Preference Shares ' 3
(c) Profit & Loss Appropriation Statement. 10

(Hindi Version)
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(vi) ®OEi &1 ws ded wA
_ S o
(vii) SEBI fegn-faaei & @R ®ROTH W
aag w1 i
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1. wfaar

W wefaar
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2+14
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5042
B. Com. (Gen./Voc.) EXAMINATION
(For Batch 2011 & 2012 Only)

f\
(Third Semester)
CORPORATE ACCOUNTING-I
BC-302
™ Time : Three Hours Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is
compulsory. All questions carry equal marks.

1. Short Answered questions (attempt all the
parts) :
-~ (1)  Sweat Equity Shares
(i) Issue of right shares

(1i1) Issue of debentures at discount repayable

at premium

(iv) Contingent liabilities and commitments

(2-01) B-5042 : P.T.O.
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(v) Current assets
(vi) Sharcholders' funds
(vil) Amalgamation in the nature of purchase

(viii) Internal reconstruction of a company.
8§x2=16

Explain the various ways in which the company

can capitalise its profits. Also state the sources
and procedure of issuing the bonus shares. 16

How is the discount on issue of debentures
written off ? Explain with examples. 16

What 1s
Accounting Standard-14 ? Explain the methods

purchase consideration as per
of its calculation. 16

Discuss different methods of alteration of Share
Capital and reduction of Share Capital. 16

A : {
Distinguish between Profit and Loss Statement

and Profit and Loss Appropriation Statement.
Prepare a Profit and Loss Statement with the

help of imaginary figures. 16

B-5042 %

gP

(2-01) B-5042 3

AN e i

A limited company 1ssued a prospectus inviting
applications for 2000 shares of Rs. 10 each at
a premium of Rs. 2 per share payable as
follows : ‘

On Application Rs. 3,

On Allotment Rs. 4 (including premium)

On First Call Rs. 3 and ‘

On Second Call Rs. 2.

Applications were received for 3000 shares
and allotment was made on pro-rata basis to
applicants for 2400 shares and application
money on 600 shares was paid back. Money
overpaid on applications was employed on
account of sums due on allotment.

R to whom 40 shares were allotted failed to
pay the allotment money and on his subsequent
failure to pay the first call and his shares were
forfeited. M the holder to 60 shares failed to
pay the two calls and his shares were forfeited
after the second call. Of the shares forefeited,
80 shares were sold to K as fully paid, K
paying Rs. 9 per share, the whole of R's share
being included.

Give journal entries, prpeare Bank Account
and Balance Shect. 16

P.T.0.
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outstanding

Rs. 1,00,000 of 5% debentures redeemable at

A Ilimited company has
the company's option on or after 1st April,
2012 at 105 percent. Interest has been paid

half yearly on 30th June and 31st December.

Amounts have been appropriated annually ou(’
of profits to a Debenture Sinking Fund and
investments have been purchased at a cost
which equals the amounts of Sinking Fund.

On 31st March, 2012 the balances on the

following accounts were : C
Rs.
Securities Premium A/c 30,000
Debenture Sinking Fund A/c 90,000
General Reserve A/c 20,000
P & L Account (Cr.) 18,000 (
5% Debentures 1,00,000

Debenture Sinking Fund Investments 90,000

Balance at Bank 125,000

1

— - "

 (

The directors decided to exercise their option
to redeem the debentures on 1st April, 2012
and towards financing this the investments were
sold for cash realising Rs. 87,000.

Write up ledger accounts concerned to give

effect to the redemption. 16

9. A Ltd. goes into liquidation on 31st March,
2012, having assets appearing in the books as
follows :

Works and other properties Rs. 9,00,000,
Liquid assets Rs. 1,00.000. Its liabilities are
Rs. 2,00,000 and its Capital (paid up) Rs.
10,00,000. The business is sold to B company
for Rs. 5,00,000 payable as to Rs. 4,50,000 in
equity shares of Rs. 10 cach credited with Rs.
7.50 per share paid up and Rs. 50,000 in cash.
Close the books of the company in liquidation.
Also prepare opening entries in the books of

- B company. 16
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